Townhouse in Paola



Reference No: 240081068-4839

Paola, South



€390,000

Total Rooms: 7

Bathrooms: 2

Floor Area (m²): 205

Bedrooms: 4

Townhouse - For Sale - Paola

Paola - This classic townhouse is situated in the most desirable section of the Paola UCA district. Upon entering, you will find an inviting foyer that leads to an open kitchen, living, and dining space, with a guest bathroom offering views of a charming terrace. The first floor features three spacious bedrooms, a study, and another guest bathroom. Additionally, the property includes an interconnected street-level garage capable of accommodating two cars with airspace at an additional cost, as well as a full rooftop area. Contact agent for viewing

Features

- Natural Gas
- Ceramic Floor
- Entrance Hall
- Terrace
- Balcony

- Kitchen/Dinette
- En Suite
- Partially Furnished
- Air Space

Rooms

✓ Double Bedroom : 7.3 x 6.3 m (45.99 m2)

Double Bedroom : 3.7 x 4.8 m (17.76 m2)

Double Bedroom: 3.79 x 5.22 m (19.78 m2)

Single Bedroom : 2.55 x 3.68 m (9.38 m2)

Kitchen: 2.53 x 4.14 m (10.47 m2)

✓ Bathroom : 5.27 x 1.53 m (8.06 m2)

Shower Ensuite : 1.7 x 2.56 m (4.35 m2)

Hallway: 4.51 x 1.55 m (6.99 m2)

Open Space : 1 x 2.5 m (2.5 m2)

Open Space : 8.7 x 3.5 m (30.45 m2)

Gallery





RE/MAX Central - Birkirkara RE/MAX Central - Birkirkara

M: 21480165

E: bkr@remax.com.mt

T: 21480165

RE/MAX Central - Birkirkara

Central Real Estate LTD, Triq Dun Karm, Birkirkara, Malta